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B. Tech. EXAMINATION, Dec. 2013
(i Semester Old Scheme (Re-appear only)]
CSE-EE-ECE-ME-CHE-CE-BME-IC-EEE-AET
MATHEMATICS-IIT
Math-201

Time : 3 Howrs Maximum Marks : 100

Bofore answering the Question Paper candidates should
cnsure that they have been supplicd the correct and
complete Question Paper. No complaints in this regard,
will be entertained after the examination.

Note : Attempt any five questions taking a least one

from cach part.

Part-A

[0 for-m<x<0
lsine for 0<x<x

1@ T £(x)

Prove that /(x)=

[P.TO.




[image: image2.jpg]() Find the half range cosine srics for the
function £(x)=(x~1)? in the range 0 < x <1

2. () Using the Fourier integral represcntation, show
—cosxw 7
o Trw?

L(x>0)

(b) Find the Fourier transform of

T2 x g,
Part-B
3. Show that
(a) [(z)=xy+iv is cverywhere continuous but is

not analyc.

22ariy) o

() Show that f

is not

analytic at the origin even though CR.

equations arc satisfied therear,

4. () Determine the analytic function whose real
partis y+ ¢ cosy.
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Fvaluate the integral over C using Residuc

where Cis | Z |=

Evaluate the integral over C

)
74224

<dz, where Cis | Z+1-i/=2
s

Find the Tauren’s serics cxpansion of
1

for | z-1j<1,

Part-C
Discuss the Poisson distribution in detail and
show that poisson variate mean is cqual to
variance. The incidence of occupational
disease in an industry is such that the workmen
have a 10% chance of suffering from it. What
is probability that in  group of 7, five or more
will suffer from it?

What do you undersiand by Binomial

Distribution?  Discuss its properties. In

3 P10,
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(b)

ampling 2 lrge number of pars
manufuctured by @ machine, the mean number
of defectives in a sample of 20 is 2. Out of
1000 such samples, how many would be
expected 10 contain at least three defective
pars.

Write a short note on Testing of Hypothesis.

A random sample of size 25 form a normal
population has the mean 47.5 und stumdard
deviation 8.4 Does this information refute the
claim that the mean of the population is 42.1

8. Define slack variables, surplus varisbles, feasible

solutions and basic feasible solutions with suitable

examples and Solve the following lincar

programming problem by simplex method
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MinZ= 35, S5 1 4y
s020+3n
26+ 5w =10

3x =20 - 4y, <15
T x 20
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